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Algebra 1 Review — Preassessment - Period:

Change the following into appropriate mathematical statement (expressions, equations, or inequalities).
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Simplify the following expression. If your answer is not an integer, express it as reduced fraction.
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Solve the following systems of linear equations.
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In the following problems, solve the equations. If your answer is not an integer, express it as reduced
fraction.
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Solve the following inequality and graph the solution on the number line provided.
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Factor the following quadratic expressions.
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Factor and solve. 3 ,
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The following problems contains a line in 3 forms: a table of values, an equation, and a graph. One or more
parts is missing from each problem. Complete any of the missing information.
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